Benzaldehyde
Response Ratio

3

Amount Ratio

R = -1.55e-001 A*A + 1.33e+000 A + 8.55e-002
Coef of Det (r"2) = 0.996 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_G\METHODS\8270-BG050118_M
Calibration Table Last Updated: Tue May 01 19:08:03 2018




Benzoic acid
Response Ratio

1.2+

Amount Ratio

R = 1.19e-002 A*A + 2.61e-001 A - 4.09e-002
Coef of Det (r"2) = 0.991 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_G\METHODS\8270-BG050118_M
Calibration Table Last Updated: Tue May 01 19:08:03 2018




Response Ratio

0.55

Atrazine

R =
Coef of Det (r"2) = 0.996

Amount Ratio

-5.20e-002 A*A + 3.44e-001 A - 1.57e-002

Curve Fit: Quadratic

Method Name:

Z:\HPCHEM1\BNA_G\METHODS\8270-BG050118.M

Calibration Table Last Updated: Tue May 01 19:08:03 2018




